( ~@ \verb|HLT_Z0-sig0.110000-alpha-1.99|
-@ \verb|HLT_Z0-sig0.110000-alpha0.00|
-®- \verb|HLT_Z0-sig0.110000-alpha2.00|
0.15 A
+ Lf’ b 4
_ i 4
=
=
I
2 0.107 & a
o
= .
2 Pl
ol® %A
o
m
0.05+4
11]
0.00 A
—?;.O —2I.5 —2I.O —1I.5 -1.0

\verb|log10(A/A0)_ref|




-@- \verb|HLT_Z0-sig0.130000-alpha-1.99|

-®- \verb|HLT_Z0-sig0.130000-alpha0.00|
-®- \verb|HLT_Z0-sig0.130000-alpha2.00|

bt hat
dé 4
: | # 4
‘jgo.lo- emth mﬂl T | $¢
o[l ] 4 "
i b

\verb|log10(A/A0)_ref|




-®- \verb|HLT_Z0-sig0.500000-alpha-1.99|
-®-| \verb|HLT_Z0-sig0.500000-alpha0.00|
0.17®= \verb|HLT_Z0-sig0.500000-alpha2.00|
0.1154
F I| |1,
c (1]
I8 | g ldd *ﬂl ¢l o
(]
< (]
)
=
| M T
0.1054
0.100 4
-6 -4

\verb|log10(A/A0)_ref]




